MATHA425 - Quantum Field Theory
Set Work: Sheet 4
1. Show that
[V, 170] = 2(6% A7, — 6% p1a)-
Hence check that )
i

EAP:S

(Y2, Vo)

is a solution of
%(5“>\7p - 5“;77)\) = 7;['7'ua ZAp]-

2. Defining v° = i7°y1y243, show that
NI
{7°2*} =o0.

3. By inserting (v#)? = 1 for some p = 0,1,2,3, write each of 4*y'” and
v%91~3 as a product v°y* for some v =0, 1,2, 3.

4. Show that
tr[vur] = 4nu-
Now show that

Yu Vv YVpYo = 2"7uu'7p70 - 277up7u70 + 277;&071/7;0 — YWY Yo Vu-
Hence show that

tr[')’u’yvf)’p')’cr] = 4[77uv77pcr — NupMve + nuanup]



